December – 2007

[image: image1.png]Total No. of Ql_:estions 1 12} : [Total No. of Pages : 2

P896 [3264]-634
B.E. (Computer)
OPERATING SYSTEM ’
(2003 Course)
Time : 3 Hours] ) i o . [Max. Marks : 100
Instructions to candidates: - i - DEC 2007
. 1) Answer any three questions from each section. ‘
2) - Answers to the two sections should be written in separate books.
©3) Neat diagrams must be drawn wherever necessary.
' 4)  Figures to the right indicate full marks.
5)  Assume suitable data, if necessary.
SECTION -1

Q1) a) State and explain Binary semaphore in detail. - ) . [81
b) Implement producer consumer problem using monitors and discuss how
: critical section requirements are fulfilled? [10]

. . ~ " OR )
02) a) What is critical section problem? What are different solution to critical
section problem? Explain any one of them in detail. . [10]
b) Write a note on monitors? Explain its structure. . [4]
¢) - What is basic requirement for execution of concurrent process? {41

Q3) a) Explain deadlock detection algorithm with example [10]

b) Whatis difference among deadlock avoidance, detéction and preverition.
: (6]
v OR ,

Q4) a) What is difference between passive and active threats? [4]
b) Write a note on Protection Domain. = (6]
¢) How access matrix is implemented? Describe any one of ‘the

- implementation method. . : [6]
©5) a)  Explain the structure of buffer cache and also discuss merits and demerits.[6]
b) Write a note on kernel data structure. ’ [6]
¢) What is region? Describe the structure of region table in unix. 4]
OR

PT.O.




[image: image2.png]Q6) a)  Explain the three layer architecture of unix operating systexh. : [6]
b) What is processing environment? Explain in brief. 6}
¢) Explain features of microkernel.: - : [4]
SECTION - Ii
07) a) What is significance of mounting file system? How does kernel mount
. the file system? [6]
" b) Describe typical structure of unix file system. ’ 6l
¢) Compare disk i-node and in-core-inode in unix. » 61
. OR -
08) a) Writea note on read system‘call. : , {61
b) . Explain in detail ; ’ » [12]
" i)  chmod function. ’ ’ -
i) stat function.
iii) pipes. _
-iv) fstat function.
Q9) a) Explain the scheduling parameters of unix operating system in detail.[6]
b).  Explain in detail context of process. . (6]
¢) What do you meant by process address space? Describe. ‘ 4]
) : OR . .
Q10)a) Differentiate Fork and Exec function. _ ‘ (6]
b) Discuss process time in brief. ‘ " [6]
¢)  Explain the term process state and transition diagram. C 4]
QH)Write short notes on : » ’ " [16]
a) Data structure’s of demand paging. ’
b) Swapping in unix.
' ¢} Disk driver.
. OR
Q12)a) What is device switch table? Explain. [6]
b) Write short notes an : - ' [10}

[3264]-634

i) Streams. ii) Terminal driver.
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P1037 [3064]-527 .
B.E. (Computer Engineering) - DEC 2
OPERATING SYSTEMS
(410442) (2003 Course)
Time : 3 H_ours] . : . ' [Max. Marks : 100
Instructions to the candidates : .

i)  Answer any three questions from each section.

ii) Answers to the two sections must be written in separate books.
iii) Neat diagrams must be drawn wherever necessary.

biv) Figures to the right indicate full marks.

SECTION -1

-

Q1) a) State and explaiﬂ similarities and differences between Monitor and
- Semaphores. ‘ [8]

b) Write a monitor that implements an alarm clock that enables a calling
program to delay itself for a specified numbers of ticks. You may
assume existence of real hardware clock that invokes a procedure tick
in your monitor at regular intervals. ) [8]

OR

Q2) a) Whatis the meaning of term busy waiting? What other kinds of waiting
are there in an operating system? Can busy waiting be avoided
- altogether? - (8]

b) State any one classical problem of synchronization and give the remedial
technique to overcome it. [8]

@3) a) Compare various access matrix schemes of implementation and
revocation with respect to each other. [8]

b) How will you differentiate between program threats and system threats?
[8]
OR

P.T.O.
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A computer has six tape drives, with n processes competing for them.
Each process may need two drives. For which value of n is the system
deadlock free? [8]

Déscrlbe Bankers algorlthm to avoid deadlock. What are the problems
in its 1mplementat10n” - [81

Where kernel attaches the buffer to the free list? Justify with the reason.
- [8]

Describe an algorithm that asks for and receives any free buffer from
the buffer pool. Compare this algorithm to get block algorithm. [10]

OR
Suppose the kernel does a delayed write of a block. What happens
when another process takes that block from its hash queue? 8]
Explain various relationship between the different table of a Unix File
System. [10]
- :

- SECTION - 11

What is remembered inode? How and When is it updated? [81
What is the significance of mounting a file system? How does Unix
kernel mount the file system? -[8]

OR

What happens when process execute unlink system call? How does it

_ takes the care of race condition? 8]

K ]
b)
05) a)
b)
Q6) a)
b)
07) a)
b)
08 a
b)
Q9) a
b)
Q10) a)
b)

Design a scheme that reduces number of directory searches for file
names by caching frequently used file names. 8]

What is the role of Process Control Block? Explain the function of

each attribute in PCB? . [8]

What is zombie process? How is it avoided? Who takes the care of

zombie processes in Unix? : [8]
OR

Write a shell program for automating a backup utility on Unix.  [8]

How does kernel deals with the signals? What are the conditions for
the generation of signals? _ [81
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[image: image5.png]Q11) a) Explain the mechanism implemehted for managing virtual memory in

Unix. What are its advantages and disadvantages? [8]
b) Streams are schemés for improving modularity of device drivers and
protocols. Justify. [10]
‘ OR _
Q12) Write short notes on : (Any Three) (18]

a) - Terminal drivers
b) Disk drivers
¢) Swapping
d) Segmentation.

0ooo

[3064]-527 -3-




